
3sloped roofswww.remor.pl

DS 3V 01 flat collectors horizontal
PANTILE ROOF I

Art. 0109
Mounting Rail 
Lenght: 2200mm 
quantity: 2

Art. 0129
Hammerhead screw 28/15
quantity: 8

Art. 0134
Hexagon flange nut with serration M8 
quantity: 8

Art. 0170
Collector handle TT-2017 
quantity: 6

Art. 0171
Middle Clamp TT-2028 
quantity: 4

Art. 0172
End Clamp TT-2010 
quantity: 4

Art. 0127
Screw TCS with serration M8x80 
quantity:16

Art. 0101
Pantile Roof Hook Adjustable
quantity: 8

Art. 080
Hexagon socket cap screw M8 
quantity: 8

Art. 0132
Hexagon socket cap screw M8x30 
quantity: 4

Art. 0132
Hexagon socket cap screw M8x45 
quantity: 4


